. Appendix I: parametrizations used in the examples.
The rational parametrizations used in Subsection 5.2 are the following;:

L] Sll
x(t,s) = (—s° + 3t%s + 35,357t — £ + 3¢, 35 — 3t°)

L] SQI

a:(t S)* (8—1)(t8+t—1) —t2s+t+s—1 t(l—t—sQ)
N 45— T —t 82 45— 82 —t+ 12+ 5 — 52

L] Sg:
x(t,s) = (st,s*(t —1),s°(t + 1))
o Sy:
2st+ s+ 83 +13+1 32 —t+s3+13+1
w(t,s):<t+83+t3+1, :
s t
[ 56:
. S t+s
t,s)= (¢ t°
2(t:5) ( te iUt +8)
° S7I
x(t,s) = (2 — s,ts%, 8" +13)
[ Sgl
x(t,s) = (t,s%,t° + 5)
° Sgl
3 4 42
s s7+t° 4
t7 = 777715
2(t,s) (t? s+t )
o Sig:
(t.5) t* 4255 — 512 — 25t —25* + 25242 — 2t 4 st2 —t —s3t 4 513 + 263 + 2
x(t,s) = :
’ —254 4253 413 4 527 —25% + 253 413 4 52 T —2s5% 4+ 283 413 4 s2
o Si:
x(t,s) = (353,125, s%)
o Si3:

L (U=t —s) (=26 + 25t — 27 + 5 — 1) s(—25> =257t — 17 + 1)
S G @ | /@ )

where q(t) = —73s* + 975212 — 625° — 5652 + 87¢.
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w(t.5) = (t(—szt +2st2 + 12+ 25 —t) s(s3t + 2st3 — 283 + 25t?) s(—25%t — 25%2 — st))
’ q(t) ’ q(t) 7 q(t) 7

where g(t) = —10s* — 83s2t? — 4st3 — 7352 + 97t — 62t.

5151
x(t,s) = (t,t3(s* + 1), 52 + s+ 1).
5171
x(t,s) = (t8,5%, —10s* — 83522 — 4st> — 7352 + 9712 — 62t)
518:
x(t,s) = (£, 519 —10s* — 83522 — 45t — 7352 + 9712 — 62t)
519:
x(t,s) = (t°,5°, —10s* — 83522 — 4st> — 7352 + 9712 — 62t)
520:
x(t,s) = (t7,s", —82s" + 625°t2 — 10s3t* — 83t" — 45% — 73st)
521:

x(t,s) = (t'2, 512, —825%t + 62537 — 10s® — 8357t — 4st” — 735?)

5221

x(t,s) = (t'3, 513, —825" + 625°t2 — 10s3t* — 83t" — 45% — 73st)
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